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West Bengal State University
B.A./B.Sc./B.Com. ( Honours, Major, General) Examinations, 2012

PART - III

POLITICALSCIENCE - HONOURS

Paper - V

Duration: 4 Hours]20 [ Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.

The figures in the margin indicate full marks.
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Answer Question No.1 and any two from the rest.

1. Write short notes on any two of the following within 100 words each:

H~f¢1~ C1.T ~ ~ ~ ~ ~oo ~ ~ ~~N~ ~ M-~ ~
2 x 5 = 10

a) Main features of Greek political thought.

. ~ ~1'8T'C~N5<P~ 2f~ C<rli1~I>j~~ I

b) Roman concept of citizenship.
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c) Main features of Medieval political thought.
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d) Machiavellian way of separating politics from ethics.
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2. Critically discuss Plato's concept of Justice.
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3. Analyse Aistotle's theory of state.
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4. Explain the Roman theory of law and assess its contribution to political thought.
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5. Evaluate Bodin's theory of sovereignty.
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Answer Question No.6 and any two from the rest.

6. Write short notes on any two of the following within 100 words each: 2 x 5 = 10

a) Rousseau's views on democracy.

~~~~~I

b) Hegel on civil society.
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c) Differences between Utopian and Scientific Socialism.
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d) Main features of Guild Socialism .

. ~ >j~II9l\!)Ctil~ ~~ 'C<JPil~I>j~~ I .

7. Assess the contribution of Locke as the founder of Liberalism.

8. Explain John Stuart Mill's views on Liberty and representative government.
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10, Evaluate the doctrine of Fabian Socialism,
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9, Examine the Anarchist theory of the state, Do you think it has any relevance today?

Givereasons for your answer, 15 + 5
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